
In summary,
y = I(x) ----! y = aI E(x - F) + G

                  (x, y) ----! (x + F, ay + G)
E

Combining Transformations
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y = aI E(x - F) + G



Ex) 'esFriEe y = -3I   (x - 4) - � in ZRrGs1
2

Ex) The pRinW (3, -4) is Rn Whe Jraph RI y = I(x)� 
'eWermine iWs FRrrespRnGinJ pRinW aIWer Whe IROORZinJ 

  WransIRrmaWiRns RI I(x): y = 3I   (x - 4) - �1
2

Ex) The pRinW (3, -4) is Rn Whe imaJe Jraph aIWer Whe 
IROORZinJ WransIRrmaWiRns RI I(x): y = 3I   (x - 4) - �� 

  'eWermine iWs FRrrespRnGinJ pRinW Rn I(x)�
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Combining Transformations



Ex) 6NeWFh eaFh IunFWiRn anG sWaWe iWs GRmain anG ranJe� 

a) y = 3(2(x + 4))2 + 2

E) y = 2_   (x -  1)_ - �1
3



Ex) The Jraph RI I(x) is Jiven EeORZ� 

:riWe an eTuaWiRn IRr eaFh neZ Jraph in Werms RI I(x)�

J(x) h(x)



Graph:
m(x) =    T(-x) - 3

Ex 1) Given T(x)

Ex 2) Given M(x) Graph:
I(x) = -M(1�3x + 1)
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